Lesson 39 on 3. ) 3.2 Foterdial 77607 ,’ Conformal /Mqrf?? Hwk |22 36,3738
[W&UEX OFf. Hr.
?ecq/ I\/eVl a harmamc/ ‘ﬁcn U on g Tues. S’—QFW,

there s a harmadic_ Cahju/a?‘e

Sim ,7/y conpected  domain <2 )
Z——
V ou (L such Athat- ’F—’aﬁl/ 's am(}rf'fc on L2

&K {cw 5
;' X

Uy = - U
X 7 Wark 7wt V—-—a(;/rtqta,(:)\

\/7: N — i

_f:

Nete : 4’”‘/}’ Gmeofe;(
RN . was /Mfmf'f'an'}' —%V‘
V= 8 ]: ‘ 0{5 Fﬂ’ﬂ] M#{{fz.w/%f

Cur| F fuk =0
So v exists  amd

X ¢ ks cone problesst ueLofe| = Ln (x'y")

2= C- i, &= € (ol -

T2 T had a V ~1QDr Ln(%['l'LA‘fj% a.m{\ rc
uon L, then v on Qe

waulp{ work on .CZ
OM,ch U = Az + C

on <1, Mo w_y Ui

amn(ﬁk af JWMP.
Fad‘ U5 haymonic—on—a—dowdin S L am{

on(y !‘# u= @_Q where 10 163 am-/y‘ﬁc, o ever?/
disc. Tn L4



FvoFeML?ej mp har monic -pcus,

I—(l Vu:f? am( U 75 /mrmvmk) —ﬂ.m u Ts
Cﬂ“w{ q Fo+€w+74( Ley . T4 uteV is aneél'/fcj

I
thea § s a comgex poledtial

Bf’j “OﬂdL,' ée\/e/ seds oA 4 and Vv T oan Ma/yfk,
’P are M{ , W é"‘NDV‘ma{ Vea" —Aj q:‘-C/

/N
M:cl
Q“_‘gl 3%_31/, _— C’f
VM’V\/: Za?-‘x”'»y%;. ”0 ens/,
l \
_w u
2xX 2%

U g(ec:{'fofleL?a ?o‘kvnl(’n[ - V=C are —Pic/p( (Tnes,
U ro+em+fa( er -p(ufd «%w: V=c are s%veam//’hej

E?;/Fﬁi%: #armam'(_ »Pans sa’{fj—py 1%:

/2\/5 L} ;M? Proﬁu-)ty )

U harmonic on Dg(é.‘)-
Let v be a harm cw:j' fr u

on D,Q (a). F=uriv.

- ~

Krow ()= 72 S > 7 G4): 2@)= 4+fre°’t—/ OLt € 2
C, &) 2@)= Lirc™

e
- 21

5 Cﬁvcﬂt)'—f(

21

‘P(m‘ m“) (r,}’eit %‘LL




_ /L/— - Mlatré®) dt & Aeragin
’?(a\> g\\ j Pfﬂf Zpﬂriam‘i/#

Tabe +he M— ’Pcus

Ae Fo
& = LV alannd? Jm; s
% Leus.

—

Lu(a)' Sor 3 u (atrd® %%J
ols

M; Wrmomk 'Pcns are ?/ese;r\/e%

under oomros/")'?on Wit an ana y7L’c —Pcnj 3 iL

u 73 Lmrmomc- o -F 73 am/yﬁa +ben
uo-P s harmonic. DCWo)f—Q.

£ g
O - here_ C

P o)
by conJr?ntu
Get harnomic cory e won Dlwn). F=uriv
/U\a/ Fof 1s am(yﬁ’c/,
Co ued = ke Foll—fs—harmonic.
Al Mmﬁ]vo(y : lUse cam vule and CGP Egns.

2
=

Easy Oroblew) - Find a haymamic Len td 75
Obyious sol” :

“e—u=L.
U0 ? u(K,;)):
~




Zu=| |
2-|
ZH ~0Z \
—7 e — ‘/
~Th
l 0 =& Z —
Laj 2 Ll 2z L
—_—
— —t —_—t
0 o
—(Z
— 0 ( 51 = (awfas}%ims.
7
N(4: fe_%

Zol" 4o bard ?mb/em - y= Rez)

(
U= @ __;,% Loj ——o(%>%

_ @Lc% @ %’(j +z/4rj(“5(%f)]>

2 (2] Z= X+l
—_ -,ﬁ' AY-&) ["‘C (‘3*1 >j ?‘

A’tj:'/[; v

n
7\

= ’pCM oxﬁ x and ?/






